Soustraction (G)

Calculez la différence.

8004 5727 1440 3844
=558  H41  H22 =136
2260 2551 7136 6124
—600 464 H02 61
4012 6184 7513 8157
=625 402 H12 =859
6095 2069 7443 5294
=314 =125 38 409
2576 8898 8318 6910
—653 =71 =154 463
7537 4303 1632 4018
=921 =136 880 648
9016 5922 2235 9796
=250 43 =210 =366
4543 4709 7090 7500
=289 =44 672 78
2966 5393 3819 9496
—692 370 H61  =[26
3856 1241 9137 9245
=940 H62 A6 462

9832 1412 1926 3780 8738 8321
=925 697 289 270 =33 455
5032 4565 8645 1311 6486 2783
=963 =268 927 =07 H31 B3l
5502 6961 7401  vedv 2732 4174
—615 06 =265 H30 H52 378
7528 5485 3010 2611 1827 2426
=264 991 212 109 875 H38
2896 6526 9865 2692 9066 7158
=908 668 =381 656 =H30 =73
6825 3998 1240 9591 472 4965
—134 14 496 =48 381 =264
7068 6593 7373 7200 5321 3375
=247 430 =118 423 HA09 631
8756 6623 4520 4199 8219 6295
—28 455 =398 =255 A64 96V
6597 5779 3444 5426 4479 8161
—616 H26 292 227 R30 244
3130 7365 3537 8017 2383 1239
175 =325 316 H63 =335 294
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